

---

## Deriving an expression for the general term of a sequence from the sum and vice versa

Dr Richard Kenderdine  
Kenderdine Maths Tutoring

An exam question asked to find an expression for the general term in a sequence where the sum of the first  $n$  terms is given by  $S_n = \frac{n}{2(n+2)}$ .

This is an example of a more general formula  $S_n = \frac{n}{(k+1)(n+k+1)}$

### Solution

$$\begin{aligned}T_n &= S_n - S_{n-1} \\&= \frac{n}{(k+1)(n+k+1)} - \frac{n-1}{(k+1)(n+k)} \\&= \frac{1}{k+1} \left( \frac{n(n+k) - (n-1)(n+k+1)}{(n+k)(n+k+1)} \right) \\&= \frac{1}{k+1} \left( \frac{k+1}{(n+k)(n+k+1)} \right) \\&= \frac{1}{(n+k)(n+k+1)} \\&= \frac{1}{n+k} - \frac{1}{n+k+1}\end{aligned}$$

Note that as  $\frac{1}{(n+k)(n+k+1)} = \frac{1}{n^2+(2k+1)n+(k^2+k)}$  we can now look at deriving the sum from the general term.

**Sum from general term**

Given  $T_n = \frac{1}{n^2 + (2k+1)n + (k^2+k)}$  show that  $\sum_{r=1}^n \frac{1}{r^2 + (2k+1)r + (k^2+k)} = \frac{n}{(k+1)(n+k+1)}$

$$T_n = \frac{1}{n^2 + (2k+1)n + (k^2+k)}$$

$$= \frac{1}{n^2 + (2k+1)n + k(k+1)}$$

$$= \frac{1}{(n+k)(n+k+1)}$$

$$= \frac{1}{n+k} - \frac{1}{n+k+1}$$

Now  $S_n = \sum_{r=1}^n T_r$

$$= \left( \frac{1}{1+k} - \frac{1}{2+k} \right) + \left( \frac{1}{2+k} - \frac{1}{3+k} \right) + \dots + \left( \frac{1}{n-1+k} - \frac{1}{n+k} \right) + \left( \frac{1}{n+k} - \frac{1}{n+k+1} \right)$$

$$= \frac{1}{1+k} - \frac{1}{n+k+1}$$

$$= \frac{n}{(k+1)(n+k+1)}$$